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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 

Summer Examination-2017 
 

Subject Name : Electrical Machine-II  
Subject Code : 2TE04EMC1                                                                                                       Branch : Diploma(Electrical) 

Semester : 4
 
                     Date :12/04/2017                          Time : 10:30 To 01:30                  Marks :70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 

(2) Instructions written on main answer book are strictly to be obeyed. 

(3) Draw neat diagrams & figures (if necessary) at right places. 

(4) Assume suitable & perfect data if needed. 

 

Q-1  Attempt the following questions (14)  

 a.  ___________________is the type of single phase induction motor 

(A) Capacitor start capacitor run 

(B)slip ring Induction Motor 

(C) shaded pole  

(D) Both (A) and (C) 

 (1)  

 b.  Slip can be found by  

(A) Ns-N 

(B) Ns-N/Ns 

(C) 120 *f/P 

(D) None of the above 

 (1)  

 c.  Find the number of poles required, when the frequency is 50Hz and speed of the motor is 500 

rpm? 

(A) 5 

(B) 10 

(C) 12 

(D) 24 

 (1)  

 d.  Universal motor have which of the following application? 

(A) Domestic pump. 

(B) Food mixer. 

(C) Traction. 

(D) lift 

 (1)  

 e.  Capacitor start capacitor run provides 

(A) High staring torque and high power factor. 

(B) High staring torque only. 

(C) High power factor only. 

(D) None. 

(1) 

 f.  What is the frequency of an alternator, if P = number of poles and N = revolution made per 

second? 

(A) PN / 2 Hz. 

(B) 120 / PN Hz. 

(1) 

http://www.electrical4u.com/what-is-capacitor-and-what-is-dielectric/
http://www.electrical4u.com/electrical-power-factor/
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(C) 120N / P Hz. 

(D) 120P / N Hz. 

 g.  Induction motor operation depends on 

(A) stationary magnetic field 

(B) rotating magnetic field 

(C) both of these 

(D) none of the above 

(1) 

 h.  Slip exists in 

(A) Induction motor. 

(B) Synchronous motor. 

(C) In both machines. 

(D) None of above. 

(1) 

 i.  A universal motor can run on……………………………… 

(a) A.C. only 

(B)D.C. only 

(c)either A.C. or D.C. 

(d)none of the above 

(1) 

 j.  % voltage regulation is  

(A) (Ep-Vp)/Vp 

(B) (Ep-Vp)/Ep 

(C) EL-VL/ EL 

(D) None of the above 

(1) 

 k.  The shape of the torque/slip curve of induction motor is 

(A) hyperbola 

(B) rectangular parabola 

(C) straight line 

(D) none of these  

(1) 

 l.  A shaded pole motor can be used for………………………… 

(A) toys 

(B) hair dryers 

(C) Circulators  

(D) All of above 

(1) 

 m.  What is the phase difference between two windings of A.C servomotor?  

(A) 30  

(B) 60 

(c) 90 

(D) 120 

(1) 

 n.  Which of the following losses are negligible in blocked rotor test?  

(A) iron loss 

(B) mechanical loss  

(c) copper loss  

(D) both A and B 

(1) 
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Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (A) Explain Construction and working of Capacitor Start Induction Run Motor (7) 

 (B) Explain Construction and working of Shaded Pole Motor (7) 

    

Q-3  Attempt All Questions (14) 

 (A) Explain Rotating Magnetic Field Produced Due To Two Phase Supply. (7) 

 (B) Give Methods Of Starting Induction Motor. Explain D.O.L. Starter In Detail (7) 

    

Q-4  Attempt All Questions (14) 

 (A) Explain Relation Between Full Load Torque And Maximum Torque. (7) 

 (B) Explain Working Principle And Construction Of Alternator. (7) 

    

Q-5  Attempt All Questions (14) 

 (A) Write Different Methods Of Voltage Regulation And Explain Any One Method. (7) 

 (B) Explain Armature Reaction Of Three Phase Alternators. (7) 

    

Q-6  Attempt All Questions (14) 

 (A) Explain Working Principle And Construction Of Synchronous Motor. (7) 

 (B) One 400 V, 30 HP, 50 Hz, 4 Pole Delta Connected Induction Motor’ S Result Are Listed 

Below. 

No Load Condition : 400 V, 12 Amp, 1.2 K Watt 

Short Circuit Condition : 100 V, 40 Amp, 3 K Watt 

Draw A Circle Diagram And Find. 

1) At Full Load, Stator Current And Power Factor. 

2) Torque At Full Load 

3) Maximum Torque 

4) At Full Load,  Efficiency And Slip 

(7) 

    

Q-7  Attempt All Questions (14) 

 (A) Explain About A.C. Series Motors. (7) 

 (B) Describe Working Of Schrage Motor (7) 

    

Q-8  Attempt All Questions (14) 

 (A) Explain Performance Characteristic Of Universal Motor.  (7) 

 (B) Explain Cogging And Crawling (7) 
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Q-1  Attempt the following questions (14)  

 a.  ___________________ એ સીંગર પેઈઝ ઈંડ્કળન ભોટય નો પ્રકાય છે . 

(A) કે઩ેસીીટય સ્ટાટટ  કે઩ેસીીટય યન ભોટય  

(B) સ્રી઩ યંગ ઈંડ્કળન ભોટય  

(C)ળેડેડ ઩ોર  

(D) ફને્ન Aઅને C 

 (1)  

 b.  સ્રી઩ ળેના લડે ળોધી ળકામ  

(A) Ns-N 
(B) Ns-N/Ns 
(C) 120 *f/P 

(D) ઉ઩ય ભાથંી કોઈ નહિ  

 (1)  

 c.  જ્માયે આલર્ટન 50 િટઝટ છે અને ભોટય ની ઝડ઩ 500 RPM છે ર્ો ઩ોર ની સીખં્મા ળોધો? 

(A)  5. 
(B)10 

(C) 12 

(D) 24 

 (1)  

 d.  યનુીલળટર નીચે ભાથંી ક્યા ંઉ઩મોગ ભા રેલામ છે    

(A) ડોભેસ્ટીક ઩મ્઩  

(B) ફુડ મભક્ળય  

(C) ટે્રક્સીન  

(D) રીફ્ટ  

 (1)  

 e.  કે઩ેસીીટય સ્ટાટટ  કે઩ેસીીટય યન ભોટય શ ુઆ઩ે છે  

(A)ઉચ્ચ ્પ્રાયમ્મ્બક ટોકટ અને ઉચ્ચ ઩ાલય પેકટય  

(B) ઉચ્ચ ્પ્રાયમ્મ્બક ટોકટ  

(C) ભાત્ર ઉચ્ચ ઩ાલય પેકટય  

(D)  કોઈ નહિ 

(1) 

 f.  જો P= ઩ોલ ્ની સીખં્મા િોમ અને  N = 1 સેીકંડ ભા ં ભરત ુ઩હયભ્રભન િોમ ર્ો  અલ્ટયનેટય ની આવરૃ્ી  કેટરી  િળે? 
(A) PN / 2 Hz. 
(B) 120 / PN Hz. 
(C)120N / P Hz. 
(D) 120P / N Hz. 

(1) 

 g.  ઇંડકસીન ભોટય ન ુઓ઩યેળન ળેના ઩ય આધાય યાખે છે   
(A) સ્સ્થય ચમુ્ફહકમ ક્ષેત્ર  
(B) પયત ુચમુ્ફહકમ ક્ષેત્ર   
(C) ઉ઩ય ના ફને્ન  

(1) 
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(D) ઉ઩ય ભાથી કોઇ નિી   

 h.  સ્રી઩ ળેભા િોમ છે  

(A) ઇંડકસીન ભોટય 

(B) સીંક્રોનસી ભોટય  

(C) ફને્ન ભળીન ભા  

(D) ઉ઩ય ભાથી કોઇ નિી   

(1) 

 i.  યનુીલળટર  ભોટય .......................  યન થામ છે  

(A) A.C. only 
(B) D.C. only 

(C)A.C. અથલા  D.C. 

(D) ઉ઩ય ભાથી કોઇ નિી   

(1) 

 j.  % લોલ્ટેજ યેગ્યરુેળન  
(A) (A)(Ep-Vp)/Vp 

(B) (Ep-Vp)/Ep 
(C) EL-VL/ EL 

(D) કોઈ નહિ 

(1) 

 k.  ઇંડકસીન ભોટય ભા ટોકટ / સ્રી઩ ના આરેખ નો આકાય  
(A) ઩યલરમ  

(B)રમ્ફચોયસી ઩યલરમ  

(C) સીીધી યેખા  

(D) કોઇ નિી  

(1) 

 l.  ળેડેડ ઩ોર ભોટય....................... ભાટે ઉ઩મોગી છે   

(A) યભકડા 
(B) િયે ડ્રામય 

(C) સીકટયરુટય  

(D) ઉ઩ય ના ંફધા   

(1) 

 m.  A.C સીલો ભોટય ભા ફે લાઇંડંગ લચ્ચે નો ખણુો કેટરો િોમ છે ?  
(A) 30  

(B) 60 

(c) 90 

(D) 120 

(1) 

 n.  બ્રોક યોટય ટેસ્ટ ભા કમો રોસી નગણ્મ િોમ છે  

(A) આમટન રોસ ્

(B) મભકેનીકર રોસી  
(C)કો઩ય રોસી  

(D) A અને B ફને્ન  
 
 

(1) 
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Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (A) કે઩ેમસીટય સ્ટાટટ  ઇન્ડક્ળન યન ભોટય નુ ં ફાધંકાભ અને  કામટ સીભજાલો (7) 

 (B) ળેડેડ ઩ોર ભોટય નુ ંફધંાયણ અને કામટ સીભજાલો (7) 

    
Q-3  Attempt All Questions (14) 
 (A) ટુ પેઈઝ સીપ્રામથી ઊત્઩ન્ન થત ુ઩હયભ્રાભી ચુફંકીમ ક્ષેત્ર સીભજાલો. (7) 

 (B) ઇન્ડક્ળન ભોટય ને ળફૃ કયલાની ઩દ્ધમર્ઓ આ઩ો અને D.O.L. સ્ટાટટય મલગર્લાય ભા ંસીભજાલો (7) 

    
Q-4  Attempt All Questions (14) 
 (A) ફૂર રોડ ટોકટ  અને ભેક્ષક્ષભભ ટોકટ  લચ્ચે  નો સીફધં સીભજાલો  (7) 

 (B) અલ્ટયનેટય નો કામટ મસીધારં્ અને ફધંાયણ સીભજાલો (7) 

    
Q-5  Attempt All Questions (14) 
 (A) લોલ્ટેજ યેગ્યુરંેસીન ની જુદી જુદી યીર્ રખોઅને કોઈ એક સીભજાલો  (7) 

 (B) થ્રી પેઈઝ ઓલ્ટનેટય ભા ંઆભેચય યીએક્ળન સીભજાલો. (7) 

    
Q-6  Attempt All Questions (14) 
 (A) સીીન્ક્રોનસી ભોટય નો કામટ મસીધારં્ અને ફધંાયણ સીભજાલો  (7) 

 (B) એક 400 V, 30 HP , 50 Hz, 4 ઩ોર ની ડેલ્ટાભા ંજોડેર પે્રયણ ભોટય ન ુ઩યીક્ષણ કયર્ા ંનીચે મજુફનો ડેટા ભ઱ે છે. 
નો રોડ ઩હયક્ષણ   : 400 V, 12 Amp, 1.2 K Watt 

ળોટટ  સીહકિટ ઩હયક્ષણ : 100 V, 40 Amp, 3 K Watt 

આ ભોટય નો સીકટર ડામાગ્રાભ દોયી નીચેની મલગર્ો ળોધો. 
1) ઩ણૂટબાય ઉ઩ય સ્ટેટય કયંટ અને ઩ાલય પેક્ટય. 
2) ઩ણૂટબાય  ઉ઩યન ૂલ઱ધણૂટ  
3) ભહ્ત્તભ લ઱ધણૂટ  
4) ઩ણૂટબાય ઉ઩ય  કામટદ્ક્ક્ષર્ા અને સ્રી઩  

(7) 

    
Q-7  Attempt All Questions (14) 
 (A) એ.સીી. મસીયીઝ ભોટસીટ સીભજાલો. (7) 

 (B) એસીચાર્જ ભોટય નુ ંકામટ લણટલો  (7) 

    

Q-8  Attempt All Questions (14) 
 (A) યમુનલસીટર ભોટય ની ઩યપોભટન્સી રાક્ષક્ષણકર્ા સીભજાલો. (7) 

 (B) કોગંગ અને ક્રારંગ સીભજાલો. (7) 

    

 


